DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

DIVISION WITH 1 TO 10 Hame:
Time: Score: A

61) 8550 =— 9 = %) —908.7 =3 =
620 53544 + 6 = M =829+ 1=
63) 64.48 =— 4 = ) —198.82 =2 =
61) —508.8 = = ) 1052.1 =7 =
65) 195.1 = 2 = 80) —27.678 =7 =
66) 70.144 = 8 = ) 8.69 + 5 =
6 —45.924 = 5 = 2 35.826 + 7 =
68) —5718 — 6 = 83 8.006 + 2 =
69 —5H410.3 =7 = ) 82332 +9 =
0) 37.942 = 6 = ) 54243 7 =
15093 = 3 = 86) 43.392 = 8 =
) —20250 -7 = s —4879 + 1 =
) —4.984 =~ 7 = 88) 13608 = 3 =
) 121.26 = 3 = 89 —95610 =+ 10 =
) —245.6] — 3 = o) —1737.4 =2 =

Mathematics: Division - Level 6 - Horizontal - Set 2


https://www.workulum.com

